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"Tim and Tom are sitting under a tree"

1. Who sits with Tom ? (Tim)

2. What are they doing ? (sitting)

3. Who are sitting under a tree ? (Tim and Tom)

Our school is a grils'  school. We go to school on foot everyday be-

cause our school is not far from our houses.

1 . who  am I ?

a. a child

b. a baby

c. a boy

d. a girl

2. How old is Noi ?

a. 7 years old.

b.  8 years old.

c. 9 years old.

d. 10 years old.
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3. Where is my house ?

a. near the street

b. near the school

c. near the market

d. far from school
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A: I don't know why I married you. The house is always dirty.

The children are bad and I never have any clean clothes

to wear.

B: You asked me to marry not to work.

1 . Who is "A" talking to ?

a. his girl student
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